. nIKON BENCH GRINDER STAND PARTS LIST

KEY NO. DESCRIPTION Qry. 1\ Y &g 2
1 Bench Grinder Support Plate 1 \ Vil et 3
2 Hex Head Bolt M8 x 20mm 4 4 ﬁ ° 0=
3 Toothed Star Lock Washer D8 4 — °N
4 Hook 1 5/: i 1 1
5 Flat Washer D5 1 6/ = 8
6 Pan Head Screw M5 x 8mm 1 '/I/i 12
7 Hex Head Set Screw M10 x 10mm 4 7 _/g :
8 Support Plate Connector 1 @
9 Adjustable Height Label 1 1 4
10 Moving Support Pole 1 1 5
11 Wheel Storage Holder 2
12 Accessory Storage Tray 1
13 Hex Head Bolt M6 x 20mm 2 9 1 7
14 Flat Washer D6 2 1 8
15 Hex Nut M6 2 1 0 1 9
16 Pan Head Tapping Screw ST6 x 18mm 4 |
17 Tension Label 1 N
18 Tension Handle 1 L S
19 Pan Head Screw M8 x 20mm 1 o
20 Fixed Pole 1 7
21 Base 1
22 5mm Hex Wrench (Not Shown) 1 21
California Prop 65 Warning
WARNING: This product contains chemicals known to the
State of California to cause cancer and birth defects or other
reproductive harm.

RIKON Power Tools, Inc.
Billerica, MA 01821

877-884-5167 www.rikontools.com Model # 80-910



POWER TOOLS ¢

BENCH GRINDER STAND ASSEMBLY DIAGRAM

Bench Grinder

Support Plate
Hex Head Bolt M8 x 20mm
\ L) !/
. & e

o—— Toothed Star Lock Washer D8

—0 < 5
Hook SSS O\ [~
/ = R / \
) —= i / N

/. @ Support Plate { <
Connector Vo
L

Pan Head Screw M5 x 8mm
/

/
&
Hex Head Set Screw M10 x 10mm
Tools Required for Assembly i
T’ \ ki

* 5mm Hex Wrench (Supplied)
Hex Head Bolt

* #2 Philips Screwdriver iz
M6 x 20! 8
x 20mm 8 @ 35

*10mm or Adjustable Wrench

Flat Washer D5
Wheel Storage Holder

—— Accessory Storage Tray

Flat Washer D6

0

Hex Nut M6

Pan Head Tapping Screw ST6 x 18mm

Adjustable Height e ( )
s & Tension Label

Label

E @K h Tension Handle
NS’

Moving Support Pole ¥ Pan Head Screw M8 x 20mm
\—— Fixed Pole

!

Mounting the Grinder
Use the mounting holes in the base of the
grinder to firmly attach it to the grinder
stand with machine bolts, washers and
nuts (mounting hardware not included),
through the holes provided in the bench
grinder’s support plate.

Hex Head Set Screw M10 x 10mm —

Base

VAN WARNING A\

DO NOT attach the bench grinder to the stand
until the stand is bolted through or into the floor
where the stand will be positioned. Do not
operate the grinder until it is firmly attached to
the stand, or it will tip over and potentially cause

harm to you, or the machine.

80-910M2 www.rikontools.com




	80-910 Instructions Front3
	80-910 Instructions Front3

	80-910 Instructions Back3
	A9RF740


